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Question Id : 92090626927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

I dob a1 & gH-gH, 1o fasl] 19—

e Y9-4TH, UF1-9eR, Uisd ol $9 3R FER|
g 9 94l 9 g,

&, 311 &1 il g

Sub questions

Question Number : 1 Question Id : 92090626928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Uidadl & TEfidl Ud 1 &1 A1H dard |

(1) AR @, gEieR (2) HHdR YR, siem g
(3) THYR Rig Ry, It (@) AR e G, el
Options :

920906106401. 1
920906106402. 2
920906106403. 3
920906106404. 4

Question Number : 2 Question Id : 92090626929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 € HyF RU U §: U ity A & w9 ¥ forfed § o guv 39
HRUR S EUH I

AMBYT A . GHFG T 99 G a1 g, o6 S R 8 gl

HRUIR : TS 394 Siigd # afe PR uar SR & &dl @ df S9®1 UG Had
I o1 ol 18 Gbdl | 98 DHI 7 HH ITHT T 3@y I |

IR HY & Maid |, A1 fau 10 fawedi 1 9 98 3w &1 994 Fifu:

(1)  ASRREA HEl & 3R R, A P! Gl AR &

(2) ASIRRGH Hel g, dfd R, A B Uel SRS el &
(3) AUER APTIRUE TR

(4) AGEElE, AR WET B

Options :

920906106405. 1
920906106406. 2
920906106407. 3
920906106408. 4

Question Number : 3 Question Id : 92090626930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A €1 YA 2U T §: Us sifiidpud A & U H faled € o g 39
PRURS EYH E|

MUY A - A TN 3R AR WIIHHH & JaQ Saa-d 4 3 Uldad! 8§ Jae g3l g
PHRUR: ®id A Wi JE ¥ 39 W& &1 i faa g1

IWRIE HYF F 3Tdlep H, A fU 7Y fasedi 7 T et IR &1 90 SIS

(1) A SRR Gl & 3R R, A DI Tl ARAT &

(2) A SIRREHI 98l g, Tl R, A T Ue! A T8l &

3) AUSE APTRTA TR
(4) AWl g, AP RUTT B
Options :

9209061064009. 1
920906106410. 2



920906106411. 3
920906106412. 4

Question Number : 4 Question Id : 92090626931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrfeafad arel 7 9 98 e &1 954 S|

A, U didadl &1 Hm aifefds =<l 81

B. gl a7 <Igl &a &1 W a8l

C.  H-YH 3R IH-gH Ul H Refad UHTY SEPR ¢
D. Ugl HETHRA HIciH HUI B SMUR §-191 71 8|

E. WYl §d 8 HFG & I BIg &A1 91|

413 feu 0 faspedl | @ Tl IR &1 994 Sifou

(1) A C3IRE

2) A B CS3IRE

(3) A CSIRD

4 AB3RC
Options :

920906106413. 1
920906106414. 2
920906106415. 3
920906106416. 4

Question Number : 5 Question Id : 92090626932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 Q) HyA R MU E:
&Y | : dN] db o | gH-gH, 1Y el &1 gE-gH|

®YF 1| : A & oitgq § St +ft arivfRyfaal sl 39 wew ud 84 & 91y 3961 9l
HT IMRT A+t 31 BT Sita YEHg 8 b 8|

SWRIF HYF & fdlP H, 91 fGu 70 fapadl § 9 a9 Iugad IR &1 9949 BT

(1) @Y | 3R 1l S Wel 8
(2)  BY 1 3R 11 ST TR &
(3) YA | el g, Afch HY 11 TTad §
(4) HYF I TTAd §, Afde FYE 1| Fel 8

Options :

920906106417. 1
920906106418. 2
920906106419. 3
920906106420. 4

Question Id : 92090626927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

a9l deb a1 § gH-gH, e a1 &1 gH-g0

e YU-4H, UH-9eR, uigd 3l $ 3R FER|
GHrg 9 e e 9 g,

&, S 1 eIl g

Sub questions

Question Number : 1 Question Id : 92090626928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR dfdad! & TEfidl ud &1ed &1 AT 9did |

(1) AR @, geieR (2) YHdR HRd, siem g
3) IWYUR Rig Gas, Ifgawdt @) I\UR Rig iR, TEaE
Options :

920906106401. 1
920906106402. 2
920906106403. 3
920906106404. 4

Question Number : 2 Question Id : 92090626929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 € HyF RU U §: U ity A & w9 ¥ forfed § o guv 39
HRUR S EUH I

AMBYT A . GHFG T 99 G a1 g, o6 S R 8 gl

HRUIR : 9™ 30 Sfiaq # afe AR var o &1 &l @ df 39T UIYg Hed
I o1 ol 18 Gbdl | 98 DHI 7 HH ITHT T 3@y I |

IR HY & fdid |, A1 f3u e fawedi 1 9 91 3 &1 994 i

(1) A SIRRGH 98l € SRR, A P Ul TAT &

(2) A SIRRGH Hgl € AR, A T U6l RS 7ol &
(3) AUER APTIRUE TR

(4) AGEElE, AR WET B

Options :

920906106405. 1
920906106406. 2
920906106407. 3
920906106408. 4

Question Number : 3 Question Id : 92090626930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A & YA AU T §: Us sifidud A & U # fifed g o g1 99
PRUR S FUH g

MUBUT A ;U TN 3R I WIHHF &1 Had sdoi-d ¥4 3 Uleadl § Udhe gofl g
PRUIR ; Hiq A W GE™ ¥ 9 W91 &1 Ao far g1

IRIF YT & Tdld |, A1 fu 71U fasdl 7 @ "et 39 &1 90 Sife:

(1)  ASRREAGE E IR R, A DI TSI ARAT§

(2) A SRR Hel €, Al R, A B Ul ARS8l &

3) AUGE APIRTE LR
(4) ASIEI g, AfbT R UG B

Options :

9209061064009. 1
920906106410. 2
920906106411. 3
920906106412. 4

Question Number : 4 Question Id : 92090626931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffafed arei 4 98 fadey &1 984 Fifor|

A, Uga didadl &1y S =<l 81

B. gl &id A dIgl B &1 W fhur g1

C.  YH-YH 3R gH-gH Ul H YTRefad UHTY SEdR ¢
D. Ugl HETHRA BTl HUI HI YR S4191 771 g

E. U9 @ §d 8 HFY & W™ BIg &A1 91fgu|

e fau 71 fashedl | 4 98l SR &1 94 Difed ;

(1) A C3IRE
2) A B CS3IRE
(3) A CSIRD

4 ABS3RC



Options :

920906106413. 1
920906106414. 2
920906106415. 3
920906106416. 4

Question Number : S Question Id : 92090626932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIE KA CAIC AR U
HYF | : aN] b g § gH-g4, 141 [Tl &1 gH-g4|

&Y Il . A & oitgd J ot o uiRfRufoa st 39 wed ud 84 & |1y 31 9EAl
&1 A1fey aft 3 &1 e gErg g gdar g |

SWRIF HYA & 3P #H, -9 3 70 fdhedl & ¥ 9ad Juga IR &1 994 BT

(1) USRI e
2  HY 1 3R 1S T §
(3) Y| e, At HYF 11 7T ®
(4)  SYF | TTed g, Qb HY 1| el @

Options :

920906106417. 1
920906106418. 2
920906106419. 3
920906106420. 4

Sub-Section Number : 2
Sub-Section Id : 920906866
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090626933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAfafad wsal 7 9 5 Isg &1 ynfaars &F 91 76l 82

A I

B. WX

C. Tr%

D. Td%

E.  Wufd

A f3u v fasedt # 4 Ugl I &1 994 ST

(1) HddE

(2) HITATDB

(3) aacC

4) HAADTC
Options :

920906106421. 1
920906106422. 2
920906106423. 3
920906106424. 4

Question Number : 6 Question Id : 92090626933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAfafad wsal 7 9 5 Isg &1 ynfaars &F 91 76l 82

A I

B. WX

C. Tr%

D. Td%

E.  Wufd

A f3u v fasedt # 4 Ugl I &1 994 ST

(1) HddE

(2) HITATDB

(3) aacC

4) HAADTC
Options :

920906106421. 1
920906106422. 2
920906106423. 3
920906106424. 4

Question Number : 7 Question Id : 92090626934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 & a1y g 1 B e S Rl geredl & ol gaf Sl

-1 (eTa) -1 (3rd)
(A) I3 BiE () e gl
(B) U3 WREHI () =813 &I ARAT
(C) Ule BT (1) HEH qgrH
(D) UE HIeAl (V) JUET ST

A fau T fasedi § 9 9l SR &1 994 DI

(1) (A)-(lI), (B)-(IV), (C)-(1), (D)-(I)
(2) (A=), (B)-(1), (C)-(), (D)-(IV)
(3) (A=), (B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-(), (B)-(1), (C)-(IV), (D)-(II1)

Options :

920906106425. 1
920906106426. 2
920906106427. 3
920906106428. 4

Question Number : 7 Question Id : 92090626934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 & a1y g 1 B e S Rl geredl & ol gaf Sl

-1 (eTa) -1 (3rd)
(A) I3 BiE () e gl
(B) U3 WREHI () =813 &I ARAT
(C) Ule BT (1) HEH qgrH
(D) UE HIeAl (V) JUET ST

A fau T fasedi § 9 9l SR &1 994 DI

(1) (A)-(lI), (B)-(IV), (C)-(1), (D)-(I)
(2) (A=), (B)-(1), (C)-(), (D)-(IV)
(3) (A=), (B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-(), (B)-(1), (C)-(IV), (D)-(II1)

Options :

920906106425. 1
920906106426. 2
920906106427. 3
920906106428. 4

Question Number : 8 Question Id : 92090626935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3{TSl’ dgHd Weg b1 dodH &0 T -

A 3t
B. 34
C. 94
D. g
E. 39

At f¢u 710 fash el @ | el I &1 99+ Sifuil -

(1) &Hdd A

(2) PAABIIRD

(3) HaacC

(4) HAADARE
Options :

920906106429. 1
920906106430. 2
920906106431. 3
920906106432. 4

Question Number : 8 Question Id : 92090626935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"3{TSl’ dgHd Weg b1 dodH &0 T -

A 3t
B. 34
C. 94
D. g
E. 39

At f¢u 710 fash el @ | el I &1 99+ Sifuil -

(1) &Hdd A

(2) PAABIIRD

(3) HaacC

(4) HAADARE
Options :

920906106429. 1
920906106430. 2
920906106431. 3
920906106432. 4

Question Number : 9 Question Id : 92090626936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfefed # -4 Ueg Fe=d Uag 9 &1 82

(1) e (2) <Hg
(3) dd® (4) WSH
Options :

920906106433. 1
920906106434. 2
920906106435. 3
920906106436. 4

Question Number : 9 Question Id : 92090626936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fr=fefed # -9 2eg fe=d Uag 9 &1 82

(1) dem (2) <drg
(3) ddd (4) WS
Options :

920906106433. 1
920906106434. 2
920906106435. 3
920906106436. 4

Question Number : 10 Question Id : 92090626937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i BH I 81 IRy & [ U Ueg § -

(1) S[ @ fa9
(3)  SeUd 4 fag
Options :

920906106437. 1
920906106438. 2
920906106439. 3
920906106440. 4

Question Number : 10 Question Id : 92090626937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i BH I 81 IRy & [ U Ueg § -

(1) S[ @ fa9
(3)  SeUd 4 fag
Options :

920906106437. 1
920906106438. 2
920906106439. 3
920906106440. 4



Question Number : 11 Question Id : 92090626938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PAYa AR usd §

() g =S (2) 2l HUHHI

(3) SIHHDI (4) U AUBHHIU 3R UH GHBI
Options :

920906106441. 1
920906106442. 2
920906106443. 3
920906106444. 4

Question Number : 11 Question Id : 92090626938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PAYa AR usd §

() g =S (2) 2l HUHHI

(3) SIHHDI (4) U AUBHHIU 3R UH GHBI
Options :

920906106441. 1
920906106442. 2
920906106443. 3
920906106444. 4

Question Number : 12 Question Id : 92090626939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg 18, 19, x, 25 3R 26 BIAIH 218, A 5, 11, 13, 19 3R (3x=1) FT AL Fid HifoW|

(m 21 (2) 20.6
(3) 19.6 (4) 188
Options :

920906106445. 1



920906106446. 2
920906106447. 3
920906106448. 4

Question Number : 12 Question Id : 92090626939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 18, 19, x, 25 3R 26 PIHI 218, Al 5, 11, 13, 19 31 (3x—1) BT /I FTd DT |

(1) 21 (2) 206
(3) 19.6 (4) 188
Options :

920906106445. 1
920906106446. 2
920906106447. 3
920906106448. 4

Question Number : 13 Question Id : 92090626940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH® d81 10%, 20% 3R 25% & Jed U dgl J1d Difod |

(1) 55% (2) 54%
(3) 46% (4) 52%

Options :

920906106449.
920906106450.
920906106451.
920906106452.

AW N —

Question Number : 13 Question Id : 92090626940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it 981 10%, 20% 3R 25% & Jed Ud a1 J1d Hifer|

(M 55% (2) 54%
(3) 46% (4) 52%
Options :

920906106449. 1
920906106450. 2
920906106451. 3
920906106452. 4

Question Number : 14 Question Id : 92090626941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us aiad 6 fHl/Ae &1 id U 99 381 8 | YA [ & 915 d8 6 e & folU 3/RM &1 81

24 fHm 3t I 78 A A 98 T aug amm?

(1) 64er24 e (2) 6Her18 AT
(3) 5Her18fAe (4) 44 24 e
Options :

920906106453. 1
920906106454. 2
920906106455. 3
920906106456. 4

Question Number : 14 Question Id : 92090626941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us aafad 6 faerdi/ae &t nfd O 9d 81 81| YA 6 & a1¢ 98 6 e & fou smm &3ar 81

24 Tt @1 gl 7 &3 # 98 b= g0y ovm?

(1) 6HeT24 fiFe (2) 649118 e
(3) sHerigfiae (4) 4924 fiFe
Options :

920906106453. 1
920906106454. 2
920906106455. 3
920906106456. 4



Question Number : 15 Question Id : 92090626942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5|n€+casﬁ 17 % Eﬁ

(sin‘lﬂ—ccnsd‘ﬁ]ﬂﬂﬂﬁﬁlﬁﬁﬁﬁml
sin@-cosf 7 '

(1) 119 iy A%

5

119 2

3 —_ iy =

(3) 160 (4) 3
Options :

920906106457. 1
920906106458. 2
920906106459. 3
920906106460. 4

Question Number : 15 Question Id : 92090626942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Slh!5'+¢0’$f? 1? % t_‘ﬁ

(sin‘lﬁ—ccns’"ﬁ]?ﬁlﬂ]:fﬂlﬁﬁﬁﬁ[ﬂl
sind—cosf 7 '

1 119 @ 12

5

119 2

5y 75

(3) 160 (4) 3
Options :

920906106457. 1
920906106458. 2
920906106459. 3
920906106460. 4

Question Number : 16 Question Id : 92090626943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1 ey QU 70 ST ST ThETd Y F HTH0 Hdl 87
T IRE YR

P9 3 [$3isRe () &1

! fEeiidide (ivey) HIaH 3l
sy | . FHAPUPS A DIAA B

Il - @l =Y, feefigie T8 81

IURIeRT HYA & el H, 1 fou 7 faseui # 4 Wl Iuged IR B 944 Hiferg
(1) ad ey | 4El 81
(2) ad ey 1| gg Bl
(3) G s | 3R 1 e B
(4) A e 1, 9 9 A || wE g
Options :
920906106461. 1
920906106462. 2

920906106463. 3
920906106464. 4

Question Number : 16 Question Id : 92090626943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 1 ey QU 70 ST ST ThETd Y F HTH0 Hdl 87
®Y . DI A GG

P9 3 [$3isRe () &1

aft fEeiigie (iuer) HiaH gl
sy | . FHAPUPS A DIAA B

Il - @l =Y, feefigie T8 81

IURIeRT HYA & el H, 1 fou 7 faseui # 4 Wl Iuged IR B 944 Hiferg
(1) ad ey | 4El 81
(2)  Pad sy || GEl Bl

(3) aFIfpY | iR 1 T T B
4) Ad ey |, T 9@ ey | 98l gl

Options :

920906106461. 1
920906106462. 2
920906106463. 3
920906106464. 4

Question Number : 17 Question Id : 92090626944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FArefifad a1 1 eFgde ug SR - fau e uy &1 IR difor:

ABFTHG CBDH agAE IS RCIDEe AR AN EGIF, DB MBI E F A FA

(1) g4 (2) Hdrol
(3) Gt (4) g&t
Options :

920906106465. 1
920906106466. 2
920906106467. 3
920906106468. 4



Question Number : 17 Question Id : 92090626944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfifad a1 1 @Fgde ug 3R - fau T uy &1 3R difer:

ABBI G CBH Te1e IS DS IR GNERGIF DB HMGIE FA P

(1) dgd (2) Hdrol
3 P 4) Uel
Options :

920906106465. 1
920906106466. 2
920906106467. 3
920906106468. 4

Question Number : 18 Question Id : 92090626945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP (X) IR fdwed] 1 ¥ 59 v o wfAfgd g2
O SPHfd

STHId (X)

T N
(1) (2)
(3) < (1)

Options :
920906106469. 1




920906106470. 2
920906106471. 3
920906106472. 4

Question Number : 18 Question Id : 92090626945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3MTpfa (x) ¥R faweul & @ vy us o wfafed 82
GHE 3THid

3T (X)

] N
(1) @)
(3) < (4)

Options :

920906106469. 1
920906106470. 2
920906106471. 3
920906106472. 4

Question Number : 19 Question Id : 92090626946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3R &1 98 WHg U Sl A A B
POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906106473. 1
920906106474. 2
920906106475. 3
920906106476. 4

Question Number : 19 Question Id : 92090626946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R P1 dg I4g AU o 3= 4 firF |

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX

(3) FQMV (4) ZIKL
Options :

920906106473. 1
920906106474. 2
920906106475. 3
920906106476. 4

Question Number : 20 Question Id : 92090626947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i 31&RT & IR H Fad Juge faavor g

&1 YR : AT IR : STl

(1) FNMARAICHAFIEREAAS! (2 AIHEHS IR § |

(3) A 3y ad H U od €1 (4) 3 3fa9rdl 9<eH & GRIEd g

Options :
920906106477. 1



920906106478. 2
920906106479. 3
920906106480. 4

Question Number : 20 Question Id : 92090626947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

34 i 3R & IR H ¥aY Iuge faavur gAu|

&1 IR : AT R - STl

(1) dUaRdIceHA S gRIGAd gl (2) o INAHS TS & |

(3)  dc 3fe: da H U o €1 (4) d 3@yl 9ee & gRI &d g

Options :

920906106477. 1
920906106478. 2
920906106479. 3
920906106480. 4

Question Number : 21 Question Id : 92090626948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS raTed (1¢)) 3t RIuAl foed ad 1 g5?

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906106481. 1
920906106482. 2
920906106483. 3
920906106484. 4

Question Number : 21 Question Id : 92090626948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIS raTed (1¢)) 3t RIuAl frd 94 1 g5?

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906106481. 1
920906106482. 2
920906106483. 3
920906106484. 4

Question Number : 22 Question Id : 92090626949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SCERSIUE CIEa R IR EFIEY

-1 (@) Y- (Ui )
(A) SETerT () g Hited
(B) HYeKI IS AT (I HME
(C) HRd (i MesAAqS
(D) FARes frsH (V) IS (T[eTE)

411 feu e fawegl § 9§ 981 IR &1 954 S

(1) (A)-(), (B)-(1), (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(m), (©)-(1v), (D)-(1)
(3)  (A)-(), (B)-(), (Q)-(1), (D)-(IV)
4)  (A)-(V), (B)-(II1), (C)-(1), (D)-(1)

Options :

920906106485. 1
920906106486. 2
920906106487. 3
920906106488. 4

Question Number : 22 Question Id : 92090626949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SCERSIUE CIEa R IR EFIEY

-1 @ -1 (i o)
(A)  3mfern () @A $ed
(B) YK I HANDT (I HmE
() HRd (i MeeA s
(D) TATEes fdhirsH (v) I )

411 feu e fawegl § 9§ 981 IR &1 954 S

(1) (A)-(), (B)-(IN), (C)-(), (D)-(IV)
(2 (A)-), (B)-(1), (©)-(1V), (D)-(1)
3) -, (B)-(1), (Q)-(). (D)-(IV)
(@) (A)-(V), (B)-(IIN), (C)-(1), (D)-(I)

Options :

920906106485. 1
920906106486. 2
920906106487. 3
920906106488. 4

Question Number : 23 Question Id : 92090626950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey fanTy uivug &1 16T &1 fogm mar 42

(1) 16 3T 1950 (2) 01 3fUe 1951
(3) 06 3ffid 1952 4) 16 3R 1952
Options :

920906106489. 1
920906106490. 2
920906106491. 3
920906106492. 4

Question Number : 23 Question Id : 92090626950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STy fadhy ufveg &1 78 ! fopar mmar ur?

(1) 16 3% 1950 (2) 01 38 1951
(3) 06 3AUd 1952 (4) 16 3V 1952
Options :

920906106489. 1
920906106490. 2
920906106491. 3
920906106492. 4

Question Number : 24 Question Id : 92090626951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I €1 ®yA fau U §: U@ iy A & w4 ¥ fofed g o guu 39
PRURD EAH |

AUBUTA : A WHGY & Ydd & 915 FRIST HRd H J&Y Hofgd G2 W= & 9 H
REind

PRUIR : RIS Ugd ¥ [odh urd Udhldrd WS &1 Tee fgyrRom ot
SWRIF Y & fdl$ H, 91 f3u 70 f9badl § 9 Y Ik &1 999 SIS

(1) ASRREAIHEI € 3R R, A DI g AR §

2 ASRREA Gl €, AfhT R, A B TSI AR 81 &
3) AUSE AMfFIRUS TR

(4) AYEEIE, b RUEN B

Options :

920906106493. 1
920906106494. 2
920906106495. 3
920906106496. 4

Question Number : 24 Question Id : 92090626951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I €1 ®yA fau U §: U@ iy A & w4 ¥ fofed g o guu 39
PRURD EAH |

AUBUTA : A WHGY & Ydd & 915 FRIST HRd H J&Y Hofgd G2 W= & 9 H
REind

PRUIR : RIS Ugd ¥ [odh urd Udhldrd WS &1 Tee fgyrRom ot
SWRIF Y & fdl$ H, 91 f3u 70 f9badl § 9 Y Ik &1 999 SIS

(1) ASRREAIHEI € 3R R, A DI g AR §

2 ASRREA Gl €, AfhT R, A B TSI AR 81 &
3) AUSE AMfFIRUS TR

(4) AYEEIE, b RUEN B

Options :

920906106493. 1
920906106494. 2
920906106495. 3
920906106496. 4

Question Number : 25 Question Id : 92090626952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Furdt 3 vy W & wrafAd 82

(1)  dRermel 2) fommeasa
(3) dsfieA (4) Uydfead
Options :

920906106497. 1
920906106498. 2
920906106499. 3
920906106500. 4

Question Number : 25 Question Id : 92090626952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e AR 37 fry Qe ¥ grafd g2

(1) el 2) fomfess
3) aefliea 4) Uydfeay
Options :

920906106497. 1
920906106498. 2
920906106499. 3
920906106500. 4

Part B: Botany

Section Id : 920906534
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906867
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090626953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

False branching of thallus iz observed in

(1) Rivularia (2) Scytonema
(3 Oedogonium {4) Volvox
Options :

920906106501. 1
920906106502. 2
920906106503. 3
920906106504. 4



Question Number : 26 Question Id : 92090626953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freferfiga o @ foped dom =i sl s vl S 8 2

(1) Rgeirar (2) @rzeiHiAT
(3) FErmam (1) T
Options :

920906106501. 1
920906106502. 2
920906106503. 3
920906106504. 4

Question Number : 27 Question Id : 92090626954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heterocyst a thick-walled, pale-vellow, barrel-shaped structure found in blue-green
algae, helps in

(1) Defence (2) N: fixation
(3) C0= fixation {(4) Sulfur metabolism
Options :

920906106505. 1
920906106506. 2
920906106507. 3
920906106508. 4

Question Number : 27 Question Id : 92090626954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gfm daw § W 9F 9wt A9 fufw e, s 9w @ f1, SeEsn 5=
‘geutaee, fra o | forem e T B0

(1) & (2) e ferdem
(3) CO, fertwm (4) HeH 39T
Options :

920906106505. 1
920906106506. 2



920906106507. 3
920906106508. 4

Question Number : 28 Question Id : 92090626955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The influenza virus carry functional surface projections called spike which contains
unique enzyme known as

(1) RNA polvmerase (2) DNA polymerase
(3 Neuraminidase {(4) Hexokinase
Options :

9209061065009. 1
920906106510. 2
920906106511. 3
920906106512. 4

Question Number : 28 Question Id : 92090626955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THUAT TN § TES FEA I Al HEiHS, Fa8 i § 90 §H 9 Al
TS Fi T # O =7 FE A 87

(1) FATA.U. eimia (2) €1.U4.T diefiaia
(3) —JOREES (4) EdTHIEH
Options :

920906106509. 1
920906106510. 2
920906106511. 3
920906106512. 4

Question Number : 29 Question Id : 92090626956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Transformation, a phenomenon responsible for recombination in microbes was
discovered by

(1) F. Griffith (2) .J. Lederberg
(3) E. Tatum (4) W. Hayes
Options :

920906106513. 1
920906106514. 2
920906106515. 3
920906106516. 4

Question Number : 29 Question Id : 92090626956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U UHT qftgeAT & o geusial & Edied © o Swet 8, 396 @il 87

(1) k. e (2) . ozt
3 3. %= (4) ==q, waE
Options :

920906106513. 1
920906106514. 2
920906106515. 3
920906106516. 4

Question Number : 30 Question Id : 92090626957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rhodophyceae possesses the following unique characteristics

{A) The septa between the adjacent cells have ‘pit connections’
(B) The flagellated motile stages are totally absent

(C) Red algae exhibit low degree of epiphytism and parasitism
()  They contain water soluble phycocyanin pigment

(E) The accumulated photosynthetic product is floridean starch

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C) only (2) (A). (B). (E) only
(3)  (B), (C), (D) only (4) (C), (D), (E) only



Options :

920906106517. 1
920906106518. 2
920906106519. 3
920906106520. 4

Question Number : 30 Question Id : 92090626957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
USrersdl # ffifiga sifgdia favand o sl 27
(A)  3ATE SR & &9 U T 9Te] 9 § Td a4 9387 1497 2 |
(B)  =mumnedt wiferefier srarwemd quiean siufeem 2t )
(C) et Hare fae &oft it siferareuar va wwshifaar wefdfa = 1
(D) = el H Yomeiiel BISHEEr-- auih &l g |
(E) U T S9N 3097 BelE iy = 2 |

e feu v famredi O & a9 IR I & =994 HifAC

(1) =ad (A), (B), (C) (2) =Ha (A), (B), (E)
(3) %aa (B), (C), (D) (4) A (), (D). (E)
Options :

920906106517. 1
920906106518. 2
920906106519. 3
920906106520. 4

Question Number : 31 Question Id : 92090626958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

List I List IT

Fruiting body Sub-division/order
(A) Cleistothecium (I) Hemiascomycetes
(B) Asci (inaked) (I) Ervsiphales
(C) Apothecium (IIT) Pyrenomycetes
(D) Perithecium (IV) Discomycetes

Choose the correct answer from the options given below:

(1) A)-(D, (B)-(II), (C)-(I1D), (D)-(IV)
(2)  (A)-AD, (B)-(0), (C)-(IV), (D)-(I1I)
(3) (A1), (B)-(IV), (C)-(I), (ID-(11)
(4) (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)

Options :

920906106521. 1
920906106522. 2
920906106523. 3
920906106524. 4

Question Number : 31 Question Id : 92090626958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% @y 5= 11 =61 faers ife |

a1 H 11
EICED PIEEIECE 2
(A) FeleedifmEm () eHiuepmsiacE
(B) 7 T (IT) wdiErssed
(C) urefifiEm (I11) TrRmsfadE
(D) Tpefitmm (IV) femrmmsfada
feu Tu Tl # 9 TE ST 1 994 Fifu

(1)  (A)-( D). (B)-(I1), (C)-(I1T), (D)-(IV)
(2)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(11I)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(II)
(1) (A)-(IV), (B)~(III), (C)-(II), (D)-(I)

Options :

920906106521. 1
920906106522. 2
920906106523. 3
920906106524. 4

Question Number : 32 Question Id : 92090626959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DNA is synthesized in the cell by

(1) Tag polymerase (2) DNA polymerase
(3 Topoisomerase (4) RNAase
Options :

920906106525. 1
920906106526. 2
920906106527. 3
920906106528. 4

Question Number : 32 Question Id : 92090626959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeifiga o & formes g il 4 €1 A U Hyeifud g 87

(1) o uicim (2) & w U g
(3) ZMIHATEHEES (4) IUATH
Options :

920906106525. 1
920906106526. 2
920906106527. 3
920906106528. 4

Question Number : 33 Question Id : 92090626960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glyeyrrhiza glabra is used in the treatment of

(1) Cough (2) Insomnia
(3) Diarrhoea (4) Rhemuatism
Options :

920906106529. 1
920906106530. 2
920906106531. 3
920906106532. 4

Question Number : 33 Question Id : 92090626960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffcifiga o & fermeh g Sifirest 4 €1 A U Hycifvd g 87

(1) 2o uicims (2) € W U g
(3) ZHIHATEHEE (4) HREATH
Options :

920906106529. 1
920906106530. 2
920906106531. 3
920906106532. 4

Question Number : 34 Question Id : 92090626961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is most acidic from the mentioned material?

(1) Tomato Juice (2) Blood plasma
(3) Egg white {(4) Fresh milk
Options :

920906106533. 1
920906106534. 2
920906106535. 3
920906106536. 4

Question Number : 34 Question Id : 92090626961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu U geret & & i waifus g 27

(1) ZHE & ™ (2) Th =l
(3) 38 w4 (4) = gH
Options :

920906106533. 1
920906106534. 2
920906106535. 3
920906106536. 4

Question Number : 35 Question Id : 92090626962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The time interval between the formation of successive leaf primordia is termed as:

(1) Apical dominance (2) Plastochron
(3) Phyllotaxy (4) Parastichy
Options :

920906106537. 1
920906106538. 2
920906106539. 3
920906106540. 4

Question Number : 35 Question Id : 92090626962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

i g e (YrEEitEan) % =44 4 959 300 HEd B

(1) i e (2) ATRLIHA (FEATHA)
(3)  Tuifa=mE (4) TaafE
Options :

920906106537. 1
920906106538. 2
920906106539. 3
920906106540. 4

Question Number : 36 Question Id : 92090626963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glyphosate resembles phosphoenol pyruvate and inhibits the enzyme EPSP
synthetase which synthesises

(1) aliphatic amino acids (2) aromatic amino acids
(3 bhasic amino acids {(4) acidic amino acids
Options :

920906106541. 1
920906106542. 2
920906106543. 3
920906106544. 4

Question Number : 36 Question Id : 92090626963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAREEE, FIUREATA TR & W9 & a1 EPSP faudd 9 t-amy & Eifud i 8
Ell &1 T FHAT B

(1) Uefifes snfHl 3ne (2) urifes AT 3
(3)  eE AT 3T (1) g pf 3
Options :

920906106541. 1
920906106542. 2
920906106543. 3



920906106544. 4

Question Number : 37 Question Id : 92090626964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One i1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Cotton and linen textiles have long durability due to cellulose’s side-
by-side aggregates which form molecular cables.

Reasons (R) : Durability of cellulose 1s due to & -(1-6) glycosidic bonds.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) (A) 15 not correct but (R) 1s correct

Options :

920906106545. 1
920906106546. 2
920906106547. 3
920906106548. 4

Question Number : 37 Question Id : 92090626964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F 21 % feu v - us fisA (Assertion A) % w9 § fafga & 91 gEu 3@ w0
(Reason R) & ®9 ¥ :

sty (A): w9 99 {99 & o= & =i o9 999 9% Bl 8 (aEsl S
Hogells &1 A1 A9 Yo & A T 3] Hael &1 & |

10 (R) : AT HI CHFH a-(1-6) TAEHIESH F9 5 ST E |

ITAE I o Aerd H, A= Teu Mo ool § § FaH ITgF 9L I 99 HIAC

(1) (A) 3R (R) g1 el & 3 (R), (A) i |& =ame # |

(2) (A) 3R (R) a1 @&l &, wied (R), (A) F1 @1 = 748 2 |
(3) (A) @E &, ofe (R) 98 781 2 |

(4)  (A) @l 78 2, @ifeT (R) @&l 21

Options :

920906106545. 1
920906106546. 2
920906106547. 3
920906106548. 4

Question Number : 38 Question Id : 92090626965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ergotism, which is characterized by gangrene, nervous spasm, burning sensation,
hallucinations and temporary ‘insanity’ is caused by

(1) Claviceps purpurea (2) Phytophthora
(3 Pilobolus (4) Rhizopus stolonifer
Options :

920906106549. 1
920906106550. 2
920906106551. 3
920906106552. 4

Question Number : 38 Question Id : 92090626965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e T, foms Afesm TR, SgEed teF, 9oF, f9e a9 3 oresE #
% U 39~ Bl 2 |

(1)  Foaige gegiar (2) wrEerRmT
(3) wEcHEoE (4) TEFTH ETAAET
Options :

920906106549. 1
920906106550. 2
920906106551. 3
920906106552. 4

Question Number : 39 Question Id : 92090626966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Morchella esculenta, often found growing under trees in orchards, with an edible
ascocarp, belongs to the class

(1) Zvgomyceetes (2) Basidiomycetes
(3 Ascomycetes (4) Deuteromycetes
Options :

920906106553. 1
920906106554. 2
920906106555. 3
920906106556. 4

Question Number : 39 Question Id : 92090626966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TITeTT TeageieT A 3 # STttt § Ui % = an = 7, R v v 2,
f= 5 @ form =1 & wafua 27

(1) FETEEEda (2) wdifeammefads
(3) UERmEEESE (4) IR
Options :

920906106553. 1
920906106554. 2
920906106555. 3
920906106556. 4



Question Number : 40 Question Id : 92090626967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Many fungi have no known sexual stages in their life-cycle. Mycologists have
traditionally grouped such fungi into

(1) Ascomycetes (2) Basidiomycetes
(3) Deuteromycetes (4) Zygomycetes
Options :

920906106557. 1
920906106558. 2
920906106559. 3
920906106560. 4

Question Number : 40 Question Id : 92090626967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fgd H FAD| & S99 9 H v AU TG T8l & | HAh-a@idl 4 UH Fahi F
yREiEh w9 | e yen § aEd T 2

(1) UEhEEEAH (2) wHifsamEEd
(3) FAmERESS (4) TR
Options :

920906106557. 1
920906106558. 2
920906106559. 3
920906106560. 4

Question Number : 41 Question Id : 92090626968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Covered smuts’ disease in Barley is caused by

(1) Ustilago nuda (2) Ustilago kollert
(3 Ustilago scitamineae (4) Ustilago hordet
Options :

920906106561. 1
920906106562. 2



920906106563. 3
920906106564. 4

Question Number : 41 Question Id : 92090626968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S H ‘S e W B B E:

(1)  aFieeoT JeT (2) aFifezem Ficid
(3) e Gl (4) 7t EEETE
Options :

920906106561. 1
920906106562. 2
920906106563. 3
920906106564. 4

Question Number : 42 Question Id : 92090626969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The advanced characters exhibited by the members of basidiomyeotina include:

{A) Mo specialized sex organ are formed

{(B) Sewveral types of spore in the life-cycle

(C) Spores are endogenous in nature

(I Formation of dikarvotic cells by clamp connection

(E)  Presence of dolipore septa

Choose the most appropriate answer from the options given below :

(1)  (A), (B), (C), (E) only (2) (A), (B), (C), (D) only
(3)  (A), (B), (D), (E) only (4) (B), (C), (D), (E) only
Options :

920906106565. 1
920906106566. 2
920906106567. 3
920906106568. 4

Question Number : 42 Question Id : 92090626969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SEifeamTgHIicn Sl 0T Fau yghia & 2, 9 2|
(A) i3 i fafire <ifes 3f 8 w90 |

(B) ffaq = ® &S YR o a9 B 2 |

(C) fSosAT =i Srpfe e il 2 |

(D) F9-994 g fEghl S 594 8 |

(E) 3 <efifed we id €1

= feu e fomhedl 9 ® H9H 39gH 30T 1 994 HIWT

(1) ==« (A), (B), (O), (E) (2) e (A), (B), (C), (D)
(3) wHad (A), (B), (D), (B) (4) Fae (B), (C), (D), (E)
Options :

920906106565. 1
920906106566. 2
920906106567. 3
920906106568. 4

Question Number : 43 Question Id : 92090626970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : Gnefum is closer to angiosperms than gymonsperms.

Reasons (R): There is complete elimination of archegonia in the female
gametophyte of Gnetum.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) 1s true but (R) is not false

(4) (A) 1s false but (R) is true

T

Options :

920906106569. 1
920906106570. 2
920906106571. 3
920906106572. 4



Question Number : 43 Question Id : 92090626970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g FUA fou U E ;U AMFYA (Assertion A) % ®Y § foiflgq B 91 gEU 356 S0
(Reason R) & ®9 ¥ :

AR (A) : 27, I FAFEl Tl H] IJUE AGAsAA § Haw GHE g |
% (R) : ew * el TEFGHIE § Siuw 9 E & faeitia g 2
ITUH HGT & AT °, Ao fgr 7 fawedi § 8§ g8 I7gad I 1 9949 Hifaw
(1) (A) 3R (R) 31 &4 & 301 (R), (A) 1 9l =are 2 |

(2) (A 3 (R) TFI 8 &, wfehd (R), (A) 1 Wl =4 78 2 |

3) (A=A 8, wifH (R) 38 2 |

(4)  (A) HEF 8, «fed (R) & 2

Options :

920906106569. 1
920906106570. 2
920906106571. 3
920906106572. 4

Question Number : 44 Question Id : 92090626971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Retort cells are present in

(1 Sphagnum (2) Riceia
(3 Funaria (4) Lycopodium
Options :

920906106573. 1
920906106574. 2
920906106575. 3
920906106576. 4

Question Number : 44 Question Id : 92090626971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



freie it 7= 4 | frmd safcm &t 27

(1) @@= (2) FfFr
(3)  wHRT (1) TEFTTET
Options :

920906106573. 1
920906106574. 2
920906106575. 3
920906106576. 4

Question Number : 45 Question Id : 92090626972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cells of hydrom sheath in Polytrichum are rich in-

(1) oils (2) proteins
(3) starch {4) chlorophyll pigments
Options :

920906106577. 1
920906106578. 2
920906106579. 3
920906106580. 4

Question Number : 45 Question Id : 92090626972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tictigies T SeaTaias 3T=ag $i Hiuss 0 = § F 3= W 9 § e 27

(1) d (2) TR
3) == (4) eha wa® A
Options :

920906106577. 1
920906106578. 2
920906106579. 3
920906106580. 4

Question Number : 46 Question Id : 92090626973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Among the following pteridophytes, the initial steps in evolutionary trend of seed
development can be best seen in

(1)  Lycopodium (2) Selaginella
(3) Isoetes (4) Rhynia
Options :

920906106581. 1
920906106582. 2
920906106583. 3
920906106584. 4

Question Number : 46 Question Id : 92090626973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefad Hieese 4 o fawm i faewE g & s = 3= @E @
EI:ET 4

(1) EEHEas (2) Tfaeifadenr
(3)  SEwEiEeT (4) wFET
Options :

920906106581. 1
920906106582. 2
920906106583. 3
920906106584. 4

Question Number : 47 Question Id : 92090626974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

Last I List 11
(Suffix) (Group Heirarchy)
(A) —opsida (I} sub-class
(BY —bionta (II) class
(C) —inae (111} sub—tribe
(DY —dae (IV) Kingdom

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(ID), (C)-(I), (D)-(IV)

(2)  (A)-IV), (B)-(I), (C)-(I1I), (D)-(11)

(3) (A)-(T), (B)-(11I), (C)-(1I), (D)-(IV)

(4)  (A)-1D, (B)-AV), (C)-(11D), (D)-(D)
Options :

920906106585. 1
920906106586. 2
920906106587. 3
920906106588. 4

Question Number : 47 Question Id : 92090626974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 15 @ g 11 =1 faerm shifa |
el 1 (37e) T 11 (S8 3T9)
(A) — HITHET (—opsida) O 39-=
(B) — &I (~bionta) D =i
(C) — &l (—inae) (ITT) 39— (39-Ha)
(D) — 21 (~idea) (V) wma (Ferem)

T few v Taswedt 0 @ w6t 3T % =594 Sifau

(1) (A)-(IID, (B)-(D, (C)-(D, (D)-(IV)
(2)  (A)-IV), (B)-(I), (C)-(LID), (D)-(II)
(3)  (A)-D), (B)-(I), (C)-(1I), (D)-(IV)
(4)  (A)-IL), (B)-(1V), (C)-(1II), (D)-(1)



Options :

920906106585. 1
920906106586. 2
920906106587 3
920906106588. 4

Question Number : 48 Question Id : 92090626975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mycorrhizal fungi helps in delivery of which key ions to the plant sytem?

(1 Phosphate ions (2) Sodium ions
(3) Chloride ions (4) Carbonate ions
Options :

920906106589. 1
920906106590. 2
920906106591. 3
920906106592. 4

Question Number : 48 Question Id : 92090626975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAHAA Hah, I A hE &I JAH HI TeT-a-4 § JgH Fdl 27

(1) HiEThe HEA (2) wifeaw s
(3) FENEE FET (4) HEHe A=A
Options :

920906106589. 1
920906106590. 2
920906106591. 3
920906106592. 4

Question Number : 49 Question Id : 92090626976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Companion cells which are located close to the sieve tube serve the same function as

(1) Strasburger cells (2) Bulliform cells
(3) Phellogen (4) Cells with bars—of—sanio



Options :

920906106593. 1
920906106594. 2
920906106595. 3
920906106596. 4

Question Number : 49 Question Id : 92090626976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE, HIIHC o1 ITe-1 HIeR i o 55d 99 Adq 8l &, o Eil
F1d FA E |

(1) W HifEh (2) Y I

(3) A (4) &= ufee areft Hifiren

Options :

920906106593. 1
920906106594. 2
920906106595. 3
920906106596. 4

Question Number : 50 Question Id : 92090626977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P-proteins are associated with differentiation of

(1) Paracytic stomata (2) Paratracheal parenchyma
(3 Pneumatophore (4) Phloem sieve elements
Options :

920906106597. 1
920906106598. 2
920906106599. 3
920906106600. 4

Question Number : 50 Question Id : 92090626977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P-HiE4 % YR § Tl 8
(1) et W (2) wUETEhl ggaw
(3) =y (4) T I de (UefHeE)

Options :

920906106597. 1
920906106598. 2
920906106599. 3
920906106600. 4

Question Number : 51 Question Id : 92090626978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 ;

List I Last I1
(A) Phyllotaxy (' H.H. Dixon and . Joly
(B) Cohesion theory (II) E. Munch
(C) Pressure flow hypothesis (II1) Leonardo Fibonacel
(D)) Quiescent center (IV) F.A L. Clowes

Choose the correct answer from the options given below:

1)  (A)-(ID), (B)-(III), (C)-(IV), (D)-(I)
. (A)-(I11), (B)-(I), (C)-(II), (D)-(IV)
3 (A)-(IV), (B)-(1I), (C)-(I1I), (D)~(I)
4) (A0, (B)-(IV), (C)-(AI), (D)-(I1I)

o

]

T

(
(
(
(

Options :

920906106601. 1
920906106602. 2
920906106603. 3
920906106604. 4

Question Number : 51 Question Id : 92090626978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 15 @ 5= 11 &1 e ife |

il o=t 1l
(A) °oi fearmg () v=.v=. feaga qun . Sieft
(B) we faqum (In 3. 5=
(C) T™ a8 9iehed (I11) feramrel wresres
(D) W=t (IV) T%. T, Tet. Feiisel
feu T fasredt § & WE I F 954 HifA0

(1) (A)-(D), (B)-(I1I), (C)-(IV), (D)-(I)
(2)  (A)-(IID), (B)-(1), (C)-(II), (D)-(IV)
(3)  (A)-AV), (B)-(ID), (C)-(I1I), (D)-(I)
(4)  (A)-), (B)-(IV), (C)-(11), (D)-(I1I)

Options :

920906106601. 1
920906106602. 2
920906106603. 3
920906106604. 4

Question Number : 52 Question Id : 92090626979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : HRauvolfia serpenting was used by native indians for snake-bite and as
tranquilizer for the treatment of mental disorders.

Statement 11 : Taxol is a drug obtained from plant Taxus brevifolia which is used for
treatment of leprosy.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct

2 Both Statement I and Statement I1 are incorrect

(
(3) Statement I is correct but Statement 11 1s incorrect
(4) Statement I is incorrect but Statement 11 is correct

Options :

920906106605. 1
920906106606. 2
920906106607. 3



920906106608. 4

Question Number : 52 Question Id : 92090626979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== 2 %Y oy U E ¢

$94 () :  @9ew & Tofu Wi 999 & 90dE g0 USaiesdn S=HT 1 398 fwa
AT U1l 39 99 1 390 AEiEs faenl % 3R % oy e s % w0 oA
T = 21

%ud (1) : ¢ U 3y 8 S Z9gg #awicsr TWs WY ¥ v g 21 gEe
I9IT FEIA % ITEN F fequ faman sman 21

3T HYF & ATE® §, A< G0 70 fomedi § 9 gE8 I9gF I B 994 S0

(1) YA (1) T (1D GHT w2 |

(2) % () 3R (1) g e & |

(3) wuA (D) 9l 8, ©ifeA weA (10) Tord 2 |

(4) wu (1) Terd 8, o e (1) T8 2 |

Options :

920906106605. 1
920906106606. 2
920906106607. 3
920906106608. 4

Question Number : 53 Question Id : 92090626980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List 11
Scientific Names Common Names
(A) Eugenia carvophyllus (I) Nutmeg
(By Elettaria cardamomum (II) Clove
(C) Myristica fragrans (IIT) Cardamom
(DY Carcum carvi (IV) Caraway seed

Choose the correct answer from the options given below:

(1)  (A)-(ID), (B)-(III), (C)-(I), (D)-(IV)
(2)  (A)-(D), (B)-(II), (C)-(II), (D)-(AV)
(3)  (A)-IV), (B)-(IID), (C)-(I), (D)-(1I)
(4) (A0, (B)-(IID), (C)-(AV), (D)-(1I)

Options :

9209061066009. 1
920906106610. 2
920906106611. 3
920906106612. 4

Question Number : 53 Question Id : 92090626980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1= ar Tt 11 1 fiam it

Tt 1 g 11
(A) ZoT FRFETT (1) =S
(B) ©eHi2hI FRETHT (1) =&m (=)
(C) FEfifeesr i (I11) serma=t
(D) #HreF FET (IV) S
feu mu fasreat § 9 & 3 1 959 Fifau

(1)  (A)-(D), (B)-(1I), (C)-(1), (D)-(IV)
(2)  (A)-(D), (B)-(IID), (C)-(II), (D)-(IV)
(3)  (A)-AV), (B)-(IID), (O)-(I), (D)-(11)
(4)  (A)-(), (B)-(IID), (C)-(IV), (D)-(1)

Options :



9209061066009. 1
920906106610. 2
920906106611. 3
920906106612. 4

Question Number : 54 Question Id : 92090626981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drug ‘gquinine’ used for treatment of malaria is obtained from

(1) Artemisia absinthium (2) Rauvelfia serpentina
(3 Cinchona sps. (4) Ipomoea violacen
Options :

920906106613. 1
920906106614. 2
920906106615. 3
920906106616. 4

Question Number : 54 Question Id : 92090626981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl % 39ER % T $F i W At g ‘Fa e 0 | e | ura gt 27

(1) e vagif<am (2) TSFHHTT TI-CTET
(3)  TasmT ST (4) =9 aEicEEr
Options :

920906106613. 1
920906106614. 2
920906106615. 3
920906106616. 4

Question Number : 55 Question Id : 92090626982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nuclear pores present on nuclear envelope are enclosed by a circular structure
called as

(1) Lamina (2} Annuh
(3) Granum {(4) Vesicle
Options :

920906106617. 1
920906106618. 2
920906106619. 3
920906106620. 4

Question Number : 55 Question Id : 92090626982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR 3T § 9T S AT A1 fog | geen 8 = | B g 8, 39 FEd @

(1) =i () (2) TEAgHT (THES)
@ o (4) e (defre)
Options :

920906106617. 1
920906106618. 2
920906106619. 3
920906106620. 4

Question Number : 56 Question Id : 92090626983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following plant vields foxnut?

(1) Euryale ferox (2y  Nelumbo nouchali
(3) Nelumbo alba (4) Victoria regia
Options :

920906106621. 1
920906106622. 2
920906106623. 3
920906106624. 4

Question Number : 56 Question Id : 92090626983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

=1 5 & S =1 dar g 309 BT 87

(1) ZREeT &ea (2) et FiEet
(3)  FHorat srear (1) TaFeifar i
Options :

920906106621. 1
920906106622. 2
920906106623. 3
920906106624. 4

Question Number : 57 Question Id : 92090626984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which plant is known for its orange-red dve from flowers?

(1) Dalbergia sissoo (2) Butea monosperma
(3) Lawsonia inermis (4) Clitoria ternatea
Options :

920906106625. 1
920906106626. 2
920906106627. 3
920906106628. 4

Question Number : 57 Question Id : 92090626984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 8 & S ' 9 3596 Foll d 9T & 9rell AW - @ O % {9 & g e
AT R?

(1) Ecratoar &t (2) =gfear Ftermt
(3)  eaitaar s (4) FTTFEIET AT
Options :

920906106625. 1
920906106626. 2
920906106627. 3
920906106628. 4



Question Number : 58 Question Id : 92090626985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

lahelled as Reason (R) :

Assertion (A) : Pollen fixed in Formalin : Acetic acid : Alcohol can be used to
ascertain fertility but not the viability.

Reasons (R) :  Pollen fertility refers to the ability of a plant to produce fertile pollen
grains, where as the viability refers to the ability to germinate and
produce a pollen tube.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) 18 correct but (R) 1s not correct
(4) (A) 1s not correct but (R) 1s correct
Options :

920906106629. 1
920906106630. 2
920906106631. 3
920906106632. 4

Question Number : 58 Question Id : 92090626985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g Fua feu o E ;v AfEER (Assertion A) & w9 H foiflaa 2 o gEU 35k SR
(Reason R)&% &4 H :

WMgRe (A) :  TETEYIT I BHAM : THICHAT : Uoshlgd § W@ § I9ihal gHread
Bt & 7 Sfie gmar 74|

+rm (R) T U - JAehdl o1 ATHIE TE9 g HHE/3E WA S 3caTe
T BT & Falh SA1a- AT HT 7Y TR HUT HT AP 37T TET-ATeTaht
=1 &1 BT Bl

ITT FIF F FoF 5, A= f2u 7 fGwedt § § 981 I3 1 994 $ifan

(1) (A) 3R (R) 3 51 £ 3 (R), (A) 1 781 =Fre 8 |

(2) (A) F (R) 31 Wl &, il (R), (A) F1 @l = & 2 |
(3) (A)EH g, i (R) 378cd 2|

(4)  (A) 3EA B, wfF (R) &cF 2

Options :

920906106629. 1
920906106630. 2
920906106631. 3
920906106632. 4

Question Number : 59 Question Id : 92090626986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The extra-chromosomal heredity unit, circular in nature is called

(1) X-Factor (2) Plasmid
(3) Cosmid (1) HRecA Protein
Options :

920906106633. 1
920906106634. 2
920906106635. 3
920906106636. 4

Question Number : 59 Question Id : 92090626986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR ST 1 Al T AR 36 HEend &

(1) X=® (2) wifeHE
(3) RIS (4) IFH-ATEH
Options :

920906106633. 1
920906106634. 2
920906106635. 3
920906106636. 4

Question Number : 60 Question Id : 92090626987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Double-helix structure of DNA is made up of a linear polymer comprised of subunits

called

(1) Nucleic acids (2) Amino acids
(3 Nucleotides (4) Carbohvdrates
Options :

920906106637. 1
920906106638. 2
920906106639. 3
920906106640. 4

Question Number : 60 Question Id : 92090626987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E1.UA.T, I fg-Felor a1 0h @ Fgers g a1 &l & fa|d ERECICON
HOTa T Bt # |
(1) el 3w (2) T e
(3) s (1) wmEiEEge
Options :

920906106637. 1
920906106638. 2
920906106639. 3
920906106640. 4

Question Number : 61 Question Id : 92090626988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Genes which code for primary structure of enzymes in operon model are called :

(1) Structural genes (2) Repressor genes
(3) Regulatory genes (4) Negative genes
Options :

920906106641. 1
920906106642. 2
920906106643. 3
920906106644. 4

Question Number : 61 Question Id : 92090626988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 S I EE IEY § TSR % Taite §TEET S $IE Hid &, HEed &

(1) E=E-THS A (2) TFHFHI S
(3) Tams = (4) =OTeH S
Options :

920906106641. 1
920906106642. 2
920906106643. 3
920906106644. 4

Question Number : 62 Question Id : 92090626989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are autosomal dominant traits?

(A) Colour blindness

(B) Mpyotonic dystrophy

{(C) Phenylthio Carbamide Tasting
(D) Phenylketonuria

(E) Branchydactyly

Choose the most appropriate answer from the options given below :

(1) (A), (C), (D) only (2) (A), (B), (D) only
(3)  (A), (D), (E) only (4) (B).(C), (E) only
Options :

920906106645. 1
920906106646. 2
920906106647. 3
920906106648. 4

Question Number : 62 Question Id : 92090626989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frfafga @ 9 #F SAfemonght waEt @& 27
(A)  SvriEmT

(B) WHEREIH® SEEE

(C) THamas amn SEEEs Jh

(D) ThrEEEhERiE

(E) sishigaersal

= fou v famedi 4 & T8 39w I & 94 HIfAC

(1) == (A), (C), (D) (2) e (A), (B), (D)

(3) a1 (A), (D), (E) (4) Faa (B), (O), (E)
Options :

920906106645. 1
920906106646. 2
920906106647. 3
920906106648. 4



Question Number : 63 Question Id : 92090626990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : Embryo rescue technique is used for embryo culture.

Reasons (R): In case of embryo rescue, the objective is to rescue the developing
embryo from the egg cell.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 18 not correct but (R) 1= correct

Options :

920906106649. 1
920906106650. 2
920906106651. 3
920906106652. 4

Question Number : 63 Question Id : 92090626990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g %gA feu o # : v AR (Assertion A) % ®9 # foifiga 2 df gEu Imeh FRwr
(Reason R) & ®9 # :

FFY (A) : YO HAUA & foiw Yui-3gR (1) a1 g fRar S 2|
#0 (R) : YT T 1 389, 378 SV ° [GwHa gH et g 1 3R 0 2
ITF HUE & A 5, A= 50 70 fomhedi § 9 5a8 I W B F5 S0
(1) (A) 3R (R) 3H 8 2 3R (R), (A) Fi @& =re 2

(2)  (A) IR (R) HT 59 &, & (R), (A) i @t =aren 7 2 |

(3) (A)Tg 2, dfT (R) 39T 2|
(4)  (A) 3@ 2, df (R) 93 21

Options :

920906106649. 1
920906106650. 2
920906106651. 3
920906106652. 4

Question Number : 64 Question Id : 92090626991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The citric-acid cycle takes place in

(1) Mitochondrial matrix (2) Protoplast
(3) Chloroplast membrane {4) Cell membrane
Options :

920906106653. 1
920906106654 2
920906106655. 3
920906106656. 4

Question Number : 64 Question Id : 92090626991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e o & formd fafew-37 9% 81 27

(1) wmEemi-saa digad (2) Sfage®
(3) eftacias e (4) hifsrent fegeett
Options :

920906106653. 1
920906106654. 2
920906106655. 3
920906106656. 4

Question Number : 65 Question Id : 92090626992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Regulatory portion of plant genes located primarily upstream from the transcription
site is called

(1) (Gene enhancer (2) Gene promoter
(3) G-Box (4) Termination site
Options :

920906106657. 1
920906106658. 2
920906106659. 3
920906106660. 4

Question Number : 65 Question Id : 92090626992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oyl § S o Feams 9w S gEm: AEoEd oW $ W W OdEEdE B R
FEATT Bl
(1) < a4h (2) S wad®
(3) G-aied (4) HH9H e

Options :

920906106657. 1
920906106658. 2
920906106659. 3
920906106660. 4



Question Number : 66 Question Id : 92090626993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the chain elongation process, the factor involved in translocation of ribosome from
one codon to the next along the mRNA is :

(1) GDP (2) NADP
(3) EF-G (4) EF-Tu
Options :

920906106661. 1
920906106662. 2
920906106663. 3
920906106664. 4

Question Number : 66 Question Id : 92090626993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEE G WhAT § USEEM % U YHe § g 9He § mRNA % HHaO & g Fe=
T & % 91 A% el &l & 7

(1) =& (2) wWHuEd
(3) 3 THI (1) 3THZ
Options :

920906106661. 1
920906106662. 2
920906106663. 3
920906106664. 4

Question Number : 67 Question Id : 92090626994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Golden rice, is a transgenic crop with enhanced levels of riboflavin,
{a precursor of vitamin A).

Statement 11 : To create golden rice, the genes used were isolated from daffodil and a
bacterium

In the light of the above Statements, choose the correct answer from the options
given below :

(1 Both Statement I and Statement 11 are true

(2) Both Statement I and Statement 11 are false

(3) Statement I is true but Statement 11 is false

(4) Statement [ 1s false but Statement 11 is true

Options :

920906106665. 1
920906106666. 2
920906106667. 3
920906106668. 4

Question Number : 67 Question Id : 92090626994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gl wye feuu & -

FoH (I): @E 9F, TEEwed (9 fGefm A &1 @ ), & 9 g¢ &R amwe
T S 2

Fu4 (1) : @i 9= 99 % foru wgm feew o SfiFi + ewifed aun v Sfamy & sem
Teram o)

I FY & A H, A fGu T Gweq ¥ § |98 3T F 994 S

(1) FWOIRADST aFE |
(2) e (I) 3R (D) SHI 36 & |
(3) FuA (I) 94 &, wifed w5 (1) 38T £ |
(4) %o (I) 318 8, wifed H9 (1) 79 2 |

Options :

920906106665. 1
920906106666. 2
920906106667. 3
920906106668. 4



Question Number : 68 Question Id : 92090626995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

List I List I1
(A) Nucleic Acid (I)  George Beadle and E. Tatum
(B) Bacterial Transformation (II) Johann Friedrich Miescher
(C) One gene one enzyme hypothesis (IIT) W. Arber, H. Smith and D. Nathans
() Restriction enzyvmes (IV) Frederick Griffith

Choose the correct answer from the options given below:

(1)  (A)-(IV), (B)-(II), (C)-(I), (D)-(11I)
(2)  (A)-(ID, (B)-(IV), (C)-(I), (D)-(11I)
(3 (A, (B)«II), (C)-(I1I), (D)-(IV)
(4)  (A)-(IID), (B)-(D), (C)-(IV), (D)-(1I)

Options :

920906106669. 1
920906106670. 2
920906106671. 3
920906106672. 4

Question Number : 68 Question Id : 92090626995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1% 9 g1 11 1 e it |

il il
(A) —afees 3w (I) <l dieet a41 3. <2H
(B) ey Fara (I1) = Shehes Him
(C) U I T TAEH THaedT (I11) E5cg_31ei, va. foge o €1, e
(D) wigays v=amEH (IV) Shefis fafey
feu Tu foseat § 9 TE ST 1 954 Fifau

(1) (A)-0V), (B)-(II), (C)-(D), (D)-(1)
(2)  (A)-aI), (B)-(IV), (C)-(D), (D)-(11)
(3)  (A)-(D. (B)-(I), (O)-(I11), (D)-(IV)
(4)  (A)-(I), (B)-(1), (C)-(IV). (D)-(IT)

Options :

920906106669. 1
920906106670. 2
920906106671. 3
920906106672. 4

Question Number : 69 Question Id : 92090626996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stenohaline species can tolerate

(1) narrow range of temperature (2) narrow range of salinity
(3)  wide range of temperature (4) wide range of salinity
Options :

920906106673. 1
920906106674. 2
920906106675. 3
920906106676. 4

Question Number : 69 Question Id : 92090626996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et el fhaeh wfd afee gt 7

(1) AHUYHE 1 Hhfad TE ] (2) Ul H1 HHfAT THR
(3) aHE F faEga wEn (4) <=l =1 fogd g8l
Options :

920906106673. 1
920906106674. 2
920906106675. 3
920906106676. 4

Question Number : 70 Question Id : 92090626997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For selection of transgenic shoots, medium is essentially supplemented with

(1) Vitamins (2) Carbohydrates
(3 Minerals {(4) Antibiotics
Options :

920906106677. 1
920906106678. 2
920906106679. 3
920906106680. 4

Question Number : 70 Question Id : 92090626997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS TAIE o 99 o foe, orem i fAfvea w1 3 gqfa fe s 2

(1) foerfm g (2) HIETEESE BRI
(3) @ ga (4) wiestfami g
Options :

920906106677. 1
920906106678. 2
920906106679. 3
920906106680. 4

Question Number : 71 Question Id : 92090626998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

lahelled as Reason (R) :

Assertion (A) : Tropical regions have higher biodiversity as compared to other
regions of earth.

Reasons (R) :  Tropical regions have older communities and they get more time for
development and speciation as compared to other regions of earth.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 12 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

920906106681. 1
920906106682. 2
920906106683. 3
920906106684. 4

Question Number : 71 Question Id : 92090626998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 wye fou e € : v AfeeE (Assertion A) & ®9 ¥ foifiga 2 a1 gou 39 SR0r
(Reason R) & ®9 ¥ :

HUHGA (A) . G F FF &A1 H UG IUHRCIHT &Al H AUS AGEEEd IS
EiLifd

FT (R) gl % I F H I IIEheaE & § WEE HHEE € 3 3%
fasma aen wnfa Igwas & foru sifvs oo faeran 21

I A o e H, A feu Mo fawedi § H Ha9 I9gF I H 99 HIA

(1) (A) 3R (R) gl /8 € 3 (R), (A) i & = § |

(2)  (A) 3R (R) 1 @t &, @b (R), (A) 6t 5t =ame 72 21
(3) (A)=e 2, oifea (R) ol 78 2 |

(1) (A) = 78 2, wfe (R) w8 21

Options :

920906106681. 1
920906106682. 2
920906106683. 3
920906106684. 4

Question Number : 72 Question Id : 92090626999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements ;

Statement I : Feads of same species are genetically similar and interfertile.

Statement 11 : Ecotypes are genetically different and are not interfertile

In the light of the above Statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement I1 is false
(4) Statement I 1s false but Statement II is true

Options :

920906106685. 1
920906106686. 2
920906106687. 3
920906106688. 4



Question Number : 72 Question Id : 92090626999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=l 1 wYA fag U E

FUF (I): T & A0d o I A9 €9 § Th o a97 Fqsa 2id 2l
Fuq (1) :  iifEafas w9 aiyes &9 § 9= 2 € 991 Aausa 781 2|
ITUTH HI & A °, o 5 T fawedi § ¥ wd I &1 99 Fifaw

(1) =% (D) 3 (1) gH 99 2 |

(2)  =>a (1) 30 (1) gHT 35T & |

(3) wU (D) 94 &, dfeT w97 (1) 7157 2|

(4) FuH () 39F g, ol g (ID T = £ |

Options :

920906106685. 1
920906106686. 2
920906106687. 3
920906106688. 4

Question Number : 73 Question Id : 92090627000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last IT:

List I List II
(A) Nanda Dewv1 (I) Meghalaya
(B) Manas (IIY) Uttarakhand
(C) Nokrek (III) Assam
(D) Pachmarhi (IV) Madhya Pradesh

Choose the correct answer from the options given below:

(1)  (A)-(II), (B)-(III), (C)-(IV), (D)-(I)
(2)  (A)-(ID, (B)-(I1I), (C)-(I), (D)-(IV)
(3)  (A)-(D), (B)-(ID), (C)-(AV), (D)-(I1)
(4)  (A)-D), (B)-(IV), (C)-(II), (D)-(11I)

Options :
920906106689. 1



920906106690. 2
920906106691. 3
920906106692. 4

Question Number : 73 Question Id : 92090627000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 1o |y = 11 &1 e $ifem |

T 1 T 11
(A) e &=t 1) TEEE
(B) =78 (1) ITEs
(C) =i (I11) =1=9
(D) "= (IV) mea wem
feu v fasheqi 9 & @F I %=1 9949 $ifsw

1)  (A)-(II), (B)-(IIL), (C)-(IV), (D)-(I)
2 (A)-(ID), (B)-(I1D), (C)-(I), (D)-(IV)
3 (A)-(I), (B)-(I1), (C)-(IV), (D)-(11I)
4)  (A)-(D), (B)-(IV), (C)-(II), (D)-(I1T)

T

(
(
(
(

Options :

920906106689. 1
920906106690. 2
920906106691. 3
920906106692. 4

Question Number : 74 Question Id : 92090627001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I :

List I List II
(A) Ontogeny repeats phylogeny (I) Doctorine of teratology

(B) An abnormality is a reminiscent of (II) Doctorine of sequences
a remote anscestor

(C) Serial arrangement of organisms (III) Doctorine of association
depicting gradation in a trait

(I In a derived trait, the primitive (IV) Doctorine of recapitulation
condition 1s similar to ancestral
structure

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(1), (C)-(11), (D)-(I1T)
(2)  (A)-(D, (B)-(I1D), (C)-aV), (D)-(I)
(3)  (A)-(D), (B)-ID), (C)-(I1I), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (C)-(ID), (D)-(I)

Options :

920906106693. 1
920906106694. 2
920906106695. 3
920906106696. 4

Question Number : 74 Question Id : 92090627001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 15 w19 5= 11 &1 e $ife |

T Tl 11
(A) =afFage, faged Hi grev (1) foeamfasm #1 fagra
(B) FvEm=S fedt @O it & g@e (1) A5 & g
o1 HEE Bl &
(C) <fiat it F13spa =g, =1 foeft @gm  (110) = oF =1 fag=
% #uftehtor =i guidl 21
(D) Tt == @am % anfem fRafa, (V) TREd = fagma
qEsit T T T w2

few o fameqt 9 ® @ I %1 999 Sifav .

(1) (A)-(IV), (B)-(I), (C)-(II), (D-(III)
(2)  (A)-(1D, (B)-(II), (C)-(IV), (D)-(D
(3)  (A)-D), (B)-(ID), (O)-(IID), (D)-(IV)
(4)  (A)-I), (B)-(AV), (C)-(II), (D)-(D)

Options :

920906106693. 1
920906106694. 2
920906106695. 3
920906106696. 4

Question Number : 75 Question Id : 92090627002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the phylogeny depicted above,
(1) ‘AB’ and ‘CI)" are monophyletic at the level of Y.
(2) ‘AB and ‘CI) are paraphyletic at the level of Y.

() ‘ABCD are paraphyletic at the level of X.
{4) ‘ABCD are polyphyletic at the level of X.

Options :

920906106697. 1
920906106698. 2
920906106699. 3
920906106700. 4

Question Number : 75 Question Id : 92090627002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FL gAY MY ATferged H,
(1) ‘AB @ ‘CD’, Y % & T Uhardgyd 8

(2) AR a9 ‘CD’, Y % & T Hegagydl &l
(3) ‘ABCD’, X & &R W HgamgyTdr gl
(4) ‘ABCD’, X % &R W Sgaaigadl #|

Options :
920906106697. 1



920906106698. 2
920906106699. 3
920906106700. 4

Question Number : 76 Question Id : 92090627003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sepallata genes are considered essential for normal development of floral organs and

they are grouped under the category of homeotic genes.
(1) A genes (2) B genes
(3) D genes (1) E genes

Options :

920906106701. 1
920906106702. 2
920906106703. 3
920906106704. 4

Question Number : 76 Question Id : 92090627003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= a3 % fawm & fou dveer i srevEs @99 9§ 3 T Eifafes

ElesiEd #uft = F-rid TR TR san &)

(1) A= (2) B4

(3) DS (4) E<f=
Options :

920906106701. 1
920906106702. 2
920906106703. 3
920906106704. 4

Question Number : 77 Question Id : 92090627004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement 1 : According to binomial nomenclature rules, Rosa indicum, Solanum
indicus and Fuonymus indica are the valid scientific names.

Statement 11 : As Rosa, Solanum and Fuonymus represent neuter, masculine and
feminine genitive forms respectively, the specific epithets used are
appropriate.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement I1 are incorrect

(3) Statement I is correct but Statement 11 1s incorrect

(4) Statement 1 is incorrect but Statement II is correct

Options :

920906106705. 1
920906106706. 2
920906106707. 3
920906106708. 4

Question Number : 77 Question Id : 92090627004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g Fya feu o # .
wgd (I) : feue Amugfa & Fadl % I8N, 797 5599, Tici7d Slehd a1 F3ii779 551
ECEERICEI IR

&y (1) : a7, Fio77 AR F3HN-59 HA: T4 Fadt T966 T a9 g7 9 hl TgHid
+id & s\t w1 e mu fafse e 3taq 2

ST B % e A, 1 Ry e Rredt § @ T IugE SE w1 5w HI

() %% (1) 3R (1D <H =&l 2 |

(2) =¥ (D) 3R (I1) qH1 7Terd & |

(3)  =uA () 98l &, =i ®2F (1) o 2 |

() %5 (D) 7| 8, Tl wuA (1D 58l & |

Options :

920906106705. 1
920906106706. 2
920906106707. 3
920906106708. 4



Question Number : 78 Question Id : 92090627005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List I Last 11
(A) Plesiomorphy (I) A derived trait in an evolutionary series
(B) Symplesiomorphy (II) Possession of derived traits by a group
of taxa
{(C) Synapomorphy (IIT) An ancestral or primitive trait/character
(D) Apomorphy (IV) A group of taxa sharing a primitive trait

Choose the correct answer from the options given below:

(1) (A)-(T), (B)-(III), (C)-(IV), (D)-(II)
(2)  (A)-(IM), (B)-(IV), (C)-(II), (D)-(T)
(3)  (A)-(IV), (B)-(1I), (C)-(I), (D)-(I1I)
(4)  (A)-(I), (B)-(I), (C)-(I1I), (D)-(IV)

Options :

9209061067009. 1
920906106710. 2
920906106711. 3
920906106712. 4

Question Number : 78 Question Id : 92090627005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% =y g= 11 &1 faem i

el 1 gl I
(A) HHET @) fawmad sEa § U Fea~ aau
(B) TaerAfmms (II) =i % U= T8 g Fea~ &0 H
(C) GTg-mETHl (I11) g1 & WTed 374aT A1y weqm
(D) A= (IV) @i &1 U% g & ATfeahref Torad
&1 | T Bl

feu u fosmedi & & € I =1 w34 HifAw -

(1) (A)-(I), (B)-(I1I), (C)-(IV), (D)-(1I)

(2)  (A)-(II), (B)-(IV), (C)-(I), (D)-(T)

(3)  (A)-(IV), (B)-(ID), (C)-(I), (D)-(III)

(1) (A)-(II), (B)-(I), (C)-(ILI), (D)-(IV)

Options :

920906106709. 1
920906106710. 2
920906106711. 3
920906106712. 4

Question Number : 79 Question Id : 92090627006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List 11
{A) Compositae (I'  Lamiaceae
(B) Umbelliferae (II) Brassicaceae
(C) Labiatae

(D) Cruciferae

(III) Asteraceae
(IV) Apiaecae

Choose the correct answer from the options given below:

(1)  (A)-1D, (B)-(I), (C)-(IV), (I)-(11I)
(2) (A)-(I), (B)-(I1I), (C)-(11), (D)-(IV)
(3)  (A)-AID, (B)-IV), (C)-(I), (D)-(1I)
(4)  (A)-(IV), (B)-(II), (C)-(I1D), (D)-(I)



Options :

920906106713. 1
920906106714. 2
920906106715. 3
920906106716. 4

Question Number : 79 Question Id : 92090627006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt 15 a1 5=t 11 &1 faers $ife |
il T 11
(A) FHHEIfad @) i
(B) =l (II) sifaerst
(C) <ifawd (T1T) it
(D) wiE®d (IV) e
feu 7u faedl @ § wE I T 944 Hifaw

(1) (A)-(I), (B)-(D), (C)-(IV), (D)-(I1I)
(2) (A, (B)«(III), (C)-(II), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (C)-(I), (D)-(1)
(4)  (A)-(IV), (B)-(1I), (C)-(I1I), (D)-(I)

Options :

920906106713. 1
920906106714. 2
920906106715. 3
920906106716. 4

Question Number : 80 Question Id : 92090627007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

List I List II
(Types of Stomata) (Family Tvpe)
(A) Anomocytic (I) Cruciferous type
(B) Anisocytic (I} Rubiaceous type
(C) Paracytic (IIT) Ranunculaceous type
(D) Daiacytic (IV) Carvophyllous type

Choose the correct answer from the options given below:

(1) (A)-(UI). (B)-(D), (C)-(II), (D)-(IV)
(2) (A, (B)-(III), (C)-(IV). (D)-(11)
(3)  (A)-(AD), (B)-(IV), (C)-(III), (D)-(T)
(4)  (A)-(IV), (B)-(II), (C)-(1), (D)~(I1I)

Options :

920906106717. 1
920906106718. 2
920906106719. 3
920906106720. 4

Question Number : 80 Question Id : 92090627007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 13 @19 5= 11 &1 faem $ife |

il =T 1T

(T4 =1 9hH) (e = ThN)
(A) wiafra it = w9 (I) FHHHE THE
(B) 3maiIfiE TR Y (1) =feufaas TR
(C) wrhifyres T 9 (111) et aas THH
(D) TEHITTF THE Y (IV) SiFifrea 7R
feu U fowredi ® 9 9E 3T 1 994 Hifw

(1)  (A)-(I1D), (B)-1), (C)-(1), (D)-(IV)
(2) (A, (B)-(III), (C)-(IV), (D)-(11)
(3 (A)-ID), (B)-AV), (C)-(I1I), (D)-(I)
(4)  (A)-(IV), (B)-(ID), (C)-(I), (D)~(111)

Options :

920906106717. 1
920906106718. 2
920906106719. 3
920906106720. 4

Question Number : 81 Question Id : 92090627008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cystein rich peptide involved in pollen tube attraction in the micropylar region of
ovule in Arabidopsis.

(1) LeSTIG1 (2) LURESs
(3) GRP17 (1) SCAs
Options :

920906106721. 1
920906106722. 2
920906106723. 3
920906106724. 4

Question Number : 81 Question Id : 92090627008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wifas@ | e % gt &9 § T Tef s § wine faee § e e e
& R?

(1) LeSTIG 1 (2) LUREs
(3) GRP17 (4) SCAs
Options :

920906106721. 1
920906106722. 2
920906106723. 3
920906106724. 4

Question Number : 82 Question Id : 92090627009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Poppy plant exhibits self incompatibility of type with as male,
and as female determinants.
(1) Gametophytic/SLF/S-RNase (2) Sporophytic/PrsS/SRK
(3) Sporophytic/SCR/SP11 (1) Gametophytic/Prps/PrsS
Options :

920906106725. 1
920906106726. 2
920906106727. 3
920906106728. 4

Question Number : 82 Question Id : 92090627009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEM T HT O YR =l . AGTA A H WE & Ty 9T q1ey
frais & wE E PRI G

(1) THFEHIE/SLF/S-Rnase (2) S=TEERE/PrsS/SRK
(3) wiemEefTe/SCR/SP11 (4) FUHIGIE/ Prps/PrsS

Options :

920906106725. 1
920906106726. 2
920906106727. 3
920906106728. 4



Question Number : 83 Question Id : 92090627010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Parthenocarpy which arises due to mutations or hybridization is known as

(1) Environmental Parthenocarpy
(2) Genetic Parthenocarpy
(3)  Genetically Engineered Parthenocarpy

(4) Chemically Induced Parthenocarpy

Options :

920906106729. 1
920906106730. 2
920906106731. 3
920906106732. 4

Question Number : 83 Question Id : 92090627010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR & IANEAT | I B T S-SR (6 A 3 T AW 27
(1) vEmEwiE ATFHe
(2) AT JfuEEAT
(3) ey sEhbE AEEe
(4) THENS 9§ ¥Ggq A-EEHE

Options :

920906106729. 1
920906106730. 2
920906106731. 3
920906106732. 4

Question Number : 84 Question Id : 92090627011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I :

List 1 List 11
(A) Ruminate Endosperm (I' Podostemaceae
(B) Absence of Double Fertilization (I) Lemna paucicostata
(C) Reduced embryos (1) Cocecoloba
(D) Operculate seed (IV) Orchidaceae

Choose the correct answer from the options given below:

(1)  (A)-(ID). (B)-(IV), (C)-(1). (D)-(I1I)
(2)  (A)-(III), (B)-(I), (C)-(IV), (D)~(II)
(3)  (A)-(D), (B)-(ID), (C)-(I1IT), (D)-(IV)
(1) (A)-(IV), (B)-(III), (C)-(II), (D)-(I)

Options :

920906106733. 1
920906106734. 2
920906106735. 3
920906106736. 4

Question Number : 84 Question Id : 92090627011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 15 w19 5= 11 &1 et it |
il T 11
(A) =fdarg gomm (I) dremens
(B) fafaiem it arqufeafa (I) &= Filawieeer
(C) =aHE g (111) Fiicrar
(D) w==el e (IV) itk
feu T fasredi § @ @@ I &1 994 HifAu

(1) (A)-(D, (B)-(IV), (C)-(I), (D)-(I1I)
(2)  (A)-(II), (B)-(I), (C)-(IV), (D)-(1I)
(3)  (A)-(D), (B)-(IL), (C)-(I1I), (D)-(IV)
(4)  (A)-(IV), (B)-(11L), (C)-(II), (D)~(I)

Options :



920906106733. 1
920906106734. 2
920906106735. 3
920906106736. 4

Question Number : 85 Question Id : 92090627012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The main function of kinetochores in cell division is to provide the site of attachment

for

(1) Centromere (2) Microtubules
(3 Nucleus (4) Telomere
Options :

920906106737. 1
920906106738. 2
920906106739. 3
920906106740. 4

Question Number : 85 Question Id : 92090627012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HITTHT fauTem § HIgmR F1 =3 FE % HATSH o o0 T 9 H1 2
(1) e (2) W

(3) F=F (4) TR

Options :

920906106737. 1
920906106738. 2
920906106739. 3
920906106740. 4

Question Number : 86 Question Id : 92090627013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The active form of Phytochrome is

|: 1} Pr’a- {-’H Pa
r,::'ﬂ F|:u' {_1} Rp
Options :

920906106741. 1
920906106742. 2
920906106743. 3
920906106744. 4

Question Number : 86 Question Id : 92090627013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIE2Ieh M 1 AlHT T &

(1} Pr‘: {-"} P:

(3) Fpr 4) Rp
Options :

920906106741. 1
920906106742. 2
920906106743. 3
920906106744. 4

Question Number : 87 Question Id : 92090627014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most important auxin present in higher plant is

(1) IAA (2) 4-CI-IAA
(3) IBA (4) 2,4-D
Options :

920906106745. 1
920906106746. 2
920906106747. 3
920906106748. 4

Question Number : 87 Question Id : 92090627014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

I=a 91 & WYl § IR A 9T Jad JEcqul iR 8

(1) IAA (2) 4-Cl-IAA
(3) IBA (4) 2,4-D
Options :

920906106745. 1
920906106746. 2
920906106747. 3
920906106748. 4

Question Number : 88 Question Id : 92090627015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oxidation of H=0 to produce O: is performed by

(1) P51 in thylakoid (2) PSI1Iin thylakoid
(3 PS 1 in stroma (4) PS1I in stroma
Options :

920906106749. 1
920906106750. 2
920906106751. 3
920906106752. 4

Question Number : 88 Question Id : 92090627015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 309 A b ToTd el ol HATFHTH 2 ToRar = 21
(1) orsei=nigs ¥ PS 1 (2) aEeREE § PSII

(3) ifesw ¥ PS1 (4) ifssw 4 PS1I
Options :

920906106749. 1
920906106750. 2
920906106751. 3
920906106752. 4



Question Number : 89 Question Id : 92090627016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Positive xylem pressure causes exudation of sap through
hydathodes, a process called guttation.

Reasons (R):  Guttation is noticed when transpiration is suppressed and relative
humidity is high.

In the light of the above Statements, choose the correct answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

Options :

920906106753. 1
920906106754. 2
920906106755. 3
920906106756. 4

Question Number : 89 Question Id : 92090627016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 HYA feu U # : v AMHHUA (Assertion A) % ®9 # fafad 2 91 gEu 396 HRw
(Reason R) & &9 ¥ :

FLE (A) : 15T TF F FHAT ARl G T & Waed $I UEHAT & f69g 719 Fad 2

T (R) : 5| ATHIESH g BT 8 A HYE HATadl I9d Bl @ d fag || I
ST 8l

IR HIA o ATE® H, 19 oy 70 fohedi § 8§ H9Y 39 3T I 994 i

(1) (A) 3R (R) gFi &t & 3R (R), (A) i =& =are 2 |

(2) (A) 3 (R) T &2 &, A (R), (A) 1 wE1 =3mea 74 21
(3) (A= B, wfE (R) el T 2|

(1) (A) 5 =2 2, A (R) 541 2

Options :

920906106753. 1
920906106754. 2
920906106755. 3
920906106756. 4

Question Number : 90 Question Id : 92090627017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Blue light elicits following responses for plants

(A) It stimulates asymmetric growth
(B) Inhibits stem elongation

(C) Stimulates stomatal opening

(I}  Deactivates proton pump

(E) Stimulates bending of stem

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (A), (C), (D), (E) only
(3) (A, (B), (C). (E) only (4) (A), (E) only
Options :

920906106757. 1
920906106758. 2
920906106759. 3



920906106760. 4

Question Number : 90 Question Id : 92090627017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

freft seRrer dtdi = for fe st 3e= e -
(A) ¥& FEEHA ghg I IgaHa Sl &l

(B) @4 % wa oI Hufaa w3 21

(C) 9 % GoiH I 3Igiud il 2|

(D) wiEM 99 =i Fferg = 21

(E) @ % g %I 3gEiTa &l &l

= feu e fomredl § & H9H 39gE 39T 1 994 HIT

(1) == (A), (B), (O) (2) FFE (A), (O). (D), (E)
(3) ad (A), (B), (C), (E) (4) Fa6 (A), (E)
Options :

920906106757. 1
920906106758. 2
920906106759. 3
920906106760. 4

Question Number : 91 Question Id : 92090627018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sucrose, a transportable form of carbon and energy in most plants, is synthesized in

(1) Chloroplast (2) Cytosol
(3) Mitochondria {4) Endoplasmic reticulum
Options :

920906106761. 1
920906106762. 2
920906106763. 3
920906106764. 4

Question Number : 91 Question Id : 92090627018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

iferpier Fei & ST qUT ST B IR §9 G % Hyreita g 27
(1) whaeas (2) wEEE
(3) WSS (4) wSr=tET tepem

Options :

920906106761. 1
920906106762. 2
920906106763. 3
920906106764. 4

Question Number : 92 Question Id : 92090627019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the enzyme involved in catalysis of substrate-level photophosphorylation in
citric acid cycle.

(1) Aconitase (2) Succinate dehydrogenase
(3 Succinyl — CoA svnthetase {(4) Fumarase
Options :

920906106765. 1
920906106766. 2
920906106767. 3
920906106768. 4

Question Number : 92 Question Id : 92090627019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafes ufte =% § O T & TN BICHARCYH ®I 30id $ § WHd TAH H1
T |

(1) weifed (2) w-e SeEsifag

(3) wHAE - CoA fade= (4) FEHE

Options :

920906106765. 1
920906106766. 2
920906106767. 3
920906106768. 4



Question Number : 93 Question Id : 92090627020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statements regarding Gibberellins.

(A) All GAs possess a tetracyclic ent-gibberellane skeleton

(B) GA biosynthesis inhibitors (Cycocel) help reducing plant stem length and
lodging

(C) GAs are diterpenoids
(D)  GA biosynthesis occurs in cytoplasm

(B} GA is synthesised in the aleurone layver of embrvo

Choose the correct answer from the options given below :

(1)  (A), (B), (C) only (2) (A), (B), (C), (D) only
(3) (A, (B), (C). (E) only (4) (A). (B), (D), (E) only
Options :

920906106769. 1
920906106770. 2
920906106771. 3
920906106772. 4

Question Number : 93 Question Id : 92090627020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreitferg & defua w2t 91 %1 =91 Fifau:

(A) =t GA T U IavEshl Uz-Taere Sheted 2T 2|

(B) GA 919 gy Fus (Cycocel) T8 & o+ 1 &&E 921 904 &l S &4 §
HETH B &

(C) GA sEAUEEE B &
(D)  GA FT ATEIIY FZIATSH § BT &
(E) GA =1 g9y o1 i Teglq a8 § g 2|

= fou v faehedi § & T8 39w I H T HIfAC

(1) =& (A), (B), (C) (2) == (A), (B), (C), (D)
(3) =ad (A), (B), (0), (E) (4) A (A), (B), (D), (E)
Options :

920906106769. 1
920906106770. 2
920906106771. 3
920906106772. 4

Question Number : 94 Question Id : 92090627021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement 1 : The cuticle coats the outer cell walls of the epidermis on the aerial
parts of plants and help reducing water loss and entry of pathogens.

Statement II : Cuticle is made up of cutin and wax which are hydrophobic and
difficult to degrade.

In the hght of the above Statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement 11 are false

(3 Statement I 1s true but Statement 11 is false

(4) Statement 1 1s false but Statement 11 is true

Options :

920906106773. 1
920906106774. 2
920906106775. 3
920906106776. 4



Question Number : 94 Question Id : 92090627021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g FuA g

F94 (1) : Y % JF 9F § e i el S fuld W giewa wa widl 21 98
B I LT WMHAT & it 37 i U § T Hdl 2|

FoA (II) . Ffeher, e 791 999 § &1 8ia1 ¢ 91 Jonaudl g & a91 36 Fisea
AT oA &l

3T I o A 5, A= U U fomedi § 8§ G99 I9gF IT FH FTH I :

(1) &= ()3 (D) SH TF & |

(2) = (1) 3 (II) gH1 3= & |

(3)  wU= (D) 99 &, AT e (1) 353 21

(4) % () 38 8, eifd w2 (1) &9 2 |

Options :

920906106773. 1
920906106774. 2
920906106775. 3
920906106776. 4

Question Number : 95 Question Id : 92090627022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with Last I1 :

Last [ List IT
Enzymes Reaction Catalysed
(A) Nitrate reductase (I) Conversion of 1 — aminocyelo
propane-1-carboxylic acid to
ethylene
(B) Alternative oxidase (II) Conversion of citrate to isocitrate
(C) Aconitase (IIT) Reduction of oxygen to water
(D) ACC Oxidase (IV) Conversion of nitrate to nitrite

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(I1D), (C)-(II), (D)-(T)
(2 (A)-), (B)-(IV), (C)-(I), (D)-(1I)
(3)  (A)-1D, B)-(1), (C)-(IV), (D)-(11)
(4)  (A)-II). (B)-(ID), (C)-(I), (D)-(IV)

Options :

920906106777. 1
920906106778. 2
920906106779. 3
920906106780. 4

Question Number : 95 Question Id : 92090627022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1% a9 Fq=i 11 =1 e $ifsu

Ccill! = 11
TATEH et st
(A) =gz frewda (I) 1-3pfEEFAN- 1 SEiFaes A
o1 Uit 0 ufEaq
(B) <ehfcus ATediss (IT) ®1Ede 1 FATZHEEECE § qiads
(C) u=iATEe (I1T) AT 1 oed | 39934
(D) wifages (IV) A15ge =1 A15g18e | qitad
feu mu fasmredt & & wE I+ 954 HifAw

(1)  (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
(2)  (A)-I)., (B)-(IV), (C)-(I1T), (D)-(IT)
(3)  (A)-(aD, (B)-(D), (C)-(IV), (D)-(I1I)
(4)  (A)-(II), (B)-(IL), (C)-(1), (D)-(IV)

Options :

920906106777. 1
920906106778. 2
920906106779. 3
920906106780. 4

Question Number : 96 Question Id : 92090627023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Concept of totipotency in plant was demonstrated by

(1) CV Raman (2) T.Morgan
(3) G Haberlandt (4) EC Cocking
Options :

920906106781. 1
920906106782. 2
920906106783. 3
920906106784. 4

Question Number : 96 Question Id : 92090627023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ut § qofTeRar @i G 7 wefsa T o

(1) =t &t (2) & "itH
(3) S gewlE (4) 3 i Sifepm
Options :

920906106781. 1
920906106782. 2
920906106783. 3
920906106784. 4

Question Number : 97 Question Id : 92090627024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First report of haploid production was in

(1) Brassica (2) Mangifera
(3) Arabidopsis (4) Datura
Options :

920906106785. 1
920906106786. 2
920906106787. 3
920906106788. 4

Question Number : 97 Question Id : 92090627024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FgS 397 6T gyy fure T o

(1)  #Esr () Fhea

(3) wifgsiEg (4) &g
Options :

920906106785. 1
920906106786. 2
920906106787. 3
920906106788. 4

Question Number : 98 Question Id : 92090627025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following steps in E.coli translation sequentially.

(A) Elongation

(B) Release of polypeptide

(C) Initiation

(D)  Folding of the polypeptide

(E) Termination

Choose the correct answer from the options given below :

(1)  (B), (C), (D), (A), (E) (2) (A), (D), (E), (C), (B)
(3)  (O), (A), (E), (B), (D) (4) (A, (B), (C), (D), (E)
Options :

920906106789. 1
920906106790. 2
920906106791. 3
920906106792. 4

Question Number : 98 Question Id : 92090627025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ e wiT T § it il o w1 Feeg S

(A) g

(B) dici2rsg =1 9=
(C) wmoy

(D) dTeAI2rEe =l 9o
(E) @A

= feu mu faeredi O 9 W 39T ST H 994 i

(1) (B), (C), (D), (A), (E) (2) (A), (D), (E), (C), (B)
(3)  (C), (A), (E), (B), (D) (4) (A). (B), (C), (D), (E)
Options :

920906106789. 1
920906106790. 2
920906106791. 3
920906106792. 4



Question Number : 99 Question Id : 92090627026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacterial artificial chromosomes (BAC) are capable of cloning fragments upto

(1) 500-750 kb (2) 200-250 kb
(3) 50-150 kb (4) 300-350 kb
Options :

920906106793. 1
920906106794. 2
920906106795. 3
920906106796. 4

Question Number : 99 Question Id : 92090627026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sframy G RE (3 T ) FATIT @UST I FAI-T FH ° TEH B 2
(1)  500-750 F=ft. (2) 200-250 e,
(3)  50-150 . (4) 300-350 s,

Options :

920906106793. 1
920906106794. 2
920906106795. 3
920906106796. 4

Question Number : 100 Question Id : 92090627027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List I :

List I List 11
{(A) Clonal propagation (' Menstem culture
(B) Virus free plant (IIY Cell line culture in a bioreactor
{(C) Haploid plant production (IIT) Axillary bud

(D) Secondary metabolite production (IV) Anther culture

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(I), (C)-(II), (I-(11I)
(2) (A, (B)-(IID), (C)-(AV), (D)-(I)
(3)  (A)-(ID), (B)-(IV), (C)-(I1D), (D)~(T)
(4) (A1), (B)-(I), (C)-(IV), (D)-(1I)

Options :

920906106797. 1
920906106798. 2
920906106799. 3
920906106800. 4

Question Number : 100 Question Id : 92090627027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 15 &g 5= 11 &1 e it |
el 1 g 11
(A) FEFS TEHT (I) Tao=gas dagq
(B) TE T WIed (I) EHETHUFR ° HIfGER @5 G944
(C) =Fford 9Tey IemeA (ILT) =efta =fersr

(D) fedfas sa=a+ 39T (IV) W a4
fen 7u fommedl  § HE I F1 TG HifA0 -

(1) (A)-OV), (B)-I), (C)-(II), (D)-(11I)
(2)  (A)-0), (B)-(ID, (C)-(IV), (D)-(II)
(3)  (A)-(D), (B)-(IV), (C)-(11L), (D)-(I)
(4)  (A)-(IID), (B)-(D), (C)-(IV), (D)-(1I)

Options :
920906106797. 1



920906106798. 2
920906106799. 3
920906106800. 4



